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Note: 022 means “mixing”; if one maintains 75°2 v, he holds that those components specified mix together and become one unit;

hence, any portion taken out will be representative of the components put in. For example, if 50% was rice from the previous year and
50% from the new year and they were mixed, any tithe taken out would be 50% from each year.
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I.  Continuation of discussion re: stages when various crops reach mawynn nny (V9v)
a.  Rice, millet etc.: follow date of taking root (nw7wn)
i. Analysis (727): grains/olives —@1/3 of ripening; fruit trees -@ blossoming of bud; vegetables — harvest
1. Rice, millet etc: since they mature at different times, 1321 established nwawn
ii. Challenge (»aX): why not mix them all together (those that grew before and after »wn n")
1. And: take n"n from the mix
2. Precedent: 1w nynw “v's ruling in re same problem with beans
3. Defense: n1w nwnw 1 maintains n%a v’ (see note);
a.  Challenge: Y®mw ruled like ™1v nynw
b.  Backchallenge: 9w who rejects n%’1 in all except pure liquids
c. Resolution: YR1nw ruled like w"w1 since he maintains that we follow »a 713
4. Follow-up: all 3 statements of YR1nW are necessary; if we only knew:
a.  wwIr 257 ®"1o due to N9 2 NWY 171 ROR NP1 PR
b. 77522 px: R"0 he rejects v"W7's result> W13 NN
c.  Both a&b: we would see a contradiction = a0 99 INR 1910 YN
d. 77977 903 08 7577 5371 R"T0 even grains etc. = w"W13 N2V —at point of dispute
II. Establishment of time-parameter for 7 9Wyn in apposition to Mmva Ywyn — using v1
a. 2717 model is grain and grapes (2p» 171)
i. They grow: on rain water >tithed based on previous year (before harvest) — similarly — all fruit
ii. Unlike vegetables: which grow on current water supply and are tithed accordingly
b. y”: model is grain and grapes (2p» 171)
i. Grow on “most” water: and are tithed based on previous year etc.
ii. Unlike vegetables: which grow on “all” water (even irrigated) and are tithed per harvest time
c.  Split the difference: vegetables that were “starved” 30 days before »7wn n” follow previous year (")
III. Analysis of final clause in nwn — turn of year for trees — vVaW1 YO/N"™
a. Rationale: even though winter is still in force, most of the rain has fallen (in »”®) by that time
b.  Story involving y”r. he harvested D»InX on Vaw n™ and, stringently, tithed from 2 years
i. ie.:current and past; e.g. 2" year [»1w 1wyn] going into 3" year [»1 1wyn]
ii. Challenge: we don’t practice both n”12/w"3, not leniently (wicked) nor stringently (fool - v. 2)
iii. Answer: "1 was unsure which school maintainted which date
c. M 1201’1 he wasn’t covering both n”a/v"3, rather both of 3"/x":
i. 271 MR considered a tree for NYHPW Y27 ,0Y and vegetable for Twyn
ii. A7 17NR considered a tree for all matters
iii. Challenge: why did he accept v”a? (considering vVaw n™ to be the turnaround date)
1. Answerl (82211 *9): this tree had blossomed before vawa v of the previous year;
a. Story: could have happened anytime after that, but it occurred on vaw n"
2. Answer2 (837): really happened on vawa 1, following n"a,
a. p”1 was taking both X" 3™ into account
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